Test Physics Class 10th

Name Physics Chapter No .15
T. Marks =30 Electromagnetism rﬁé Byl Time allowed 40 minutes
Q No, 1 MCQs Tick the correct option; -Lﬁulﬁgjx,ylﬁuul / Jir
1 The turn ratio of transformer is 10 ,its mean ; Ixl OMJU.,.GZ://VU"/KI
a N :& b IP = 101; c Ng = 1ONP d V; :&
10 10
2 Which part of a D.C motor reverses the direction of current through the coil every halfcycle ?
_LQLEJ/(JIJ/MJ&/LUQ';:.JJ/I/MLgﬁb&;l’/‘-,ﬁU/{/”rddﬁ
a Armature 2T b | Brushes ¢ | Commutator 4 o d Slip rings F /...:J/
3 Number of coils in a transformer is ; ”a&muﬁJ}’u/ut//w)’
a 1 b |2 c |3 d 4
4 The study of magnetic effects of current is called ; -Lat'Uv/ > Uz/gcal/:'w@? Lo/
Electrostatics uﬁ:f/ 3 }g / b | Magnetism (}:"@ ¢ | Electromagnetism (}:‘ff) /"J? I d | Electricity uh’"‘ /"Q /
> The direction of induced e.m.f in circuit is in accordance with the conservation law of :
_‘Lén&&»aiuiwufiu‘%ufuﬁ&f/wgﬁy,éuduwg}:r
a Mass (| b | Charge i ¢ | Momentum fb{ Is d Energy 5./
6 If the current in a wire which is placed perpendicular to the magnetic increases ,magnetic force in a wire ;
fu’u;..@?db'g/(f/?/’l:;/;lgklw‘/,)oﬁf J&/Li:{;cu:/’l}&nu{/d:ig u@?/ﬁ
a Will increases J&‘/, b | Will decreases Jnﬂ/ ¢ | Will remain the same d%mjffdﬁ' d | Will be zero Lfn/"
7 A device which decreases alternating voltage is called ; _Lat’/[/iuv@‘ﬂlﬁjﬂgl
a Generator %7 b Moosr S+ c Step— down transformer /Aﬁl/”ui!:”-b?é’ d | Step-up transformer
/JL&J'/)’?A—Y;’
Q No, 2 write the short answers of these question. 7x2=14 -é A7 Ve Z:.:«Ulr’é’%)
i What is the difference between the generator and the motor ; “ng0 / u’:?uﬁ 2y A
ii Differentiate between step —up and step~ down transformers ; BSOSO I Y= V0 TN NN
iii State Lenz’s law ; ‘q/uy.uy‘s K}':J
iv Define electromagnetic Induction ; J:f_{ ) /7 d/ uj/ xtu@?‘, /"’g |
v | Write the working principle of electric motor ; S 6L S
vi Define mutual induction ; ch:f - /7 d/ u:’( st S
vii What is relay ? -9L/Ld/

QNo 3 Long Question Attempt Bothparts ~ 5+4=9

a.  Whatis electromagnetic Induction? Explain it with activity; -u:/;)u;c;u Jd//(’{_gf}u u@g";}?l
b. A step-up transformer has a turn ratio 1:100 an alternating supply of 20V is connected across the primary coil .What is the secondary voltage Vg
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